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Question Number : 1 Question Id : 68019112271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019148401. 1
68019148402. 2
68019148403. 3

68019148404. 4

Question Number : 1 Question Id : 68019112271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

4.
Options :
68019148401. 1
68019148402. 2
68019148403. 3

68019148404. 4

Question Number : 2 Question Id : 68019112272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. lim dy i
If < x, > be a real sequence such that .

=1 where|1|<1then lima,=
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Options :

68019148405. 1
68019148406. 2
68019148407. 3

68019148408. 4

Question Number : 2 Question Id : 68019112272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019148405. 1
68019148406. 2
68019148407. 3
68019148408. 4

Question Number : 3 Question Id : 68019112273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oo

The real series Z

n=1

n® —1 .
x" x> 018

n-+1

1. Convergentifx > 1
2. Convergentifx > 1
3. Convergentifx < 1
4. Convergentif x <1
Options :
680191484009. 1
68019148410. 2
68019148411. 3

68019148412. 4

Question Number : 3 Question Id : 68019112273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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CSHHERI OG> 1
CHHERIAfg x> 1
CSHERIOg v < 1
4. PRI gd <1

Options :

faa 3 =

68019148409. 1
68019148410. 2
68019148411. 3
68019148412. 4

Question Number : 4 Question Id : 68019112274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(A). A bounded sequence of real number which does not converge has atleast two limit points

(B). An unbounded of real number from below then —co 15 a limit point of the sequence
lim Ya =1,ifa<0

(C] e

(D). A sequence < x, > defined as x,,, = .31(” x =1,¥n =1 converges to zero

Choose the correet answer from the options given below:

1L.LACD
2.A B

3 AB £
41.B,C.D

Options :

68019148413. 1
68019148414. 2
68019148415. 3

68019148416. 4

Question Number : 4 Question Id : 68019112274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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1.ACD
2.A.B

3.A,B,C
4.B.C.D

Options :

68019148413. 1
68019148414. 2
68019148415. 3
68019148416. 4

Question Number : 5 Question Id : 68019112275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let Ax = b be non-homogenous system of linear equations. The augmented matrix [4 : b] 18
given by

i 1=2 1: 1
=12 3 =L 0
0 31 o1

Which of the following statement is true?

1. Rank of A 15 3

2. The system has no solution

3. The system has unique solution

4, The system has infimite number of solution

Options :
68019148417. 1

68019148418. 2



68019148419. 3
68019148420. 4

Question Number : 5 Question Id : 68019112275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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3. 50 WOIEH & T 33T GHIYF ©
4. YTl & 3 G E g ©
Options:
68019148417. 1
68019148418. 2
68019148419. 3

68019148420. 4

Question Number : 6 Question Id : 68019112276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A funetion f(x) defined on R by f(x) = {

x; x is rational number } -
—x; x is irrational number

. discontinuous at every real numbers
. discontinuous at x = 0
. continues at x = 0

|

L]

4. continuous at all non-zero real numbers

Options :

68019148421. 1



68019148422. 2
68019148423. 3

68019148424. 4

Question Number : 6 Question Id : 68019112276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019148421. 1
68019148422. 2
68019148423. 3

68019148424. 4

Question Number : 7 Question Id : 68019112277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Function Their Series Expension
I.1 1
A Jlog (1 +: L 1—=4=--—-=
og (1 +x) b skggt
B. |cosx II x_: 4+ x_“ +
' ' L
C. |log2 111 PO i N
. g2 -x 5 3 ry for <x <
D. |log sec x IV |1 £ + B & +--¥x ER
i i P T E s .

Choose the correct answer from the options given below:

CA-IV. B-IIL C-1. D-II
. A-IV. B-1, C-III, D-II
AL B-IV. C-L. D-II
CA-IL B-IIIL C-1 D-IV

fad b2 —

iy

Options :

68019148425. 1
68019148426. 2
68019148427.3
68019148428. 4

Question Number : 7 Question Id : 68019112277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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. A-IV, B-1. C-I1I. D-II
A-IIL B-IV. C-1. D-II
4. A-I1. B-III. C-1. D-IV
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Options :

68019148425. 1
68019148426. 2
68019148427.3

68019148428. 4

Question Number : 8 Question Id : 68019112278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019148429. 1

68019148430. 2



68019148431. 3
68019148432. 4

Question Number : 8 Question Id : 68019112278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1

; e
lim —{ )x E
1r—0 X

l.e

2. -€

2

3 5 )

+ =3
Options :

68019148429. 1
68019148430. 2
68019148431. 3

68019148432. 4

Question Number : 9 Question Id : 68019112279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The function f(x) = (x —3)5 (x + 1)* has
1. x = —1 1s pomnt of maxima and x = g 1 point of minima
i ; 1s point of maxima and y = —1 1s point of mimima

: . F, : ..
3. x = —1 and x = 3 are point of maxima and x = : 1 point of minima

4, neither a point of maxima nor a point of minima
Options :
68019148433. 1

68019148434. 2



68019148435. 3
68019148436. 4

Question Number : 9 Question Id : 68019112279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
BT f(x)=(x-3)° x+1)*®

Lx=-1HUPTH PTG E MR = [ FI PIEG S
x =1 SHRHTH PTG R =1 FFH 1 fdgE
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Options:

68019148433. 1
68019148434. 2
68019148435.3

68019148436. 4

Question Number : 10 Question Id : 68019112280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The point of local minima of the function f (x,y) = x* + y* — 2x% + 4xy — 2y? 1s

. (V2,—2)
A—E A7)
. (7v2,v2)

4. (0,0)

|

i

Options :

68019148437. 1
68019148438. 2
68019148439. 3

68019148440. 4



Question Number : 10 Question Id : 68019112280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hel f(xy) =y} —}'4— 2% + dxy — lf WWW%%

" '-.,-'EJ — 'n.-'li}

. (2,407
. (V2,42)

. (0,0)

fas -Jd =

iy

Options :

68019148437. 1
68019148438. 2
68019148439. 3

68019148440. 4

Question Number : 11 Question Id : 68019112281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The region R is bounded by x = 0,x =2,y =x and y = x + 2 then ﬂ (x + y)dydx 1s equal to
R

1. 3 umits
2. 6 units
. 9 units
4. 12 unit

L

Options :

68019148441. 1
68019148442. 2
68019148443.3

68019148444. 4

Question Number : 11 Question Id : 68019112281 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QﬁRx=(Lx=2.y=xjﬁy=r+2mﬂqtaﬁ%?ﬁjﬁy+ﬂ¢ngmﬁﬂ%

1.3 3mEdl
2. 6 3PSl
3,9 Il
4,12 SHh1dl

Options:

68019148441. 1

68019148442. 2

68019148443. 3

68019148444. 4

Question Number : 12 Question Id : 68019112282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the region R be bounded by x =0,y =0,z= 0 and x + y + z = a(a > 0) then the value of

ﬂf{xﬂ +y2+z8)dx dy dz 18
R
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5
4.9%/,
Options:
68019148445. 1
68019148446. 2
68019148447. 3

68019148448. 4

Question Number : 12 Question Id : 68019112282 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
WR%I=D.}'=G.2=DSmx+}'+z=a(ﬂiﬁﬂjﬁf§iﬂ§3ﬂ%.aﬁ
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Options :

68019148445. 1
68019148446. 2
68019148447. 3

68019148448. 4

Question Number : 13 Question Id : 68019112283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+y+z=6
The system of linear equation x + 2y + 3z = 10
x+2y+Adz=p
has infinite number of solution. The value of 4 and p are

L.ai=3pu=-10
2.2=3,pu=10

3. 1 = 3. whatever p may be
4, 3=3u+10

Options :

68019148449. 1
68019148450. 2
68019148451.3

68019148452. 4



Question Number : 13 Question Id : 68019112283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+yt+z=686

gD TSI BT PTG x + 29 +32= 10

. x+%_1-‘+zlz=.u
& A Gl H THIUHE g1 3Ry BTAF B

LS, =00
2

A=3,4=10
3023, Wy GUa g aFHar g
4.h=3.u#10

Options:

68019148449. 1
68019148450. 2
68019148451. 3

68019148452. 4

Question Number : 14 Question Id : 68019112284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 . 1
x“sin—, if x=0
f(T) i X . then
0 ; =4
1. £ 15 continue at y = ()
2. f"(x) is continue at x=10
3. f'(0)exits
4. f"(0)exits
Options:

68019148453. 1
68019148454. 2
68019148455. 3

68019148456. 4



Question Number : 14 Question Id : 68019112284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

‘ zsinl i 0
X —., Hla X = ?:lﬁ

HAT  f(x)=1 x
0 afEx =0
L fi(x) RFR®RE x=0
2 f"{r}ﬁﬁ_rl_{%. x=10
3. £(0)HE

4. £"(0)HISE &

Options :

68019148453. 1
68019148454, 2
68019148455. 3
68019148456. 4

Question Number : 15 Question Id : 68019112285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following two series then

SUrDE S e+ DY +3)

. S1 and S2 converge

. S1 diverges S2 converge
3. S1 converges S2 converge
. S1 and S2 diverge

| R

oy

Options :
68019148457. 1
68019148458. 2

68019148459. 3



68019148460. 4

Question Number : 15 Question Id : 68019112285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019148457. 1
68019148458. 2
68019148459. 3

68019148460. 4

Question Number : 16 Question Id : 68019112286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The solution ofif_ 4E+ 13y = o2 cos 3%

dx = dx
where ¢, and ¢, are arbitrary constants

i : : A
1. y = e® (¢, cos3x+ c,sin 3x) iy e** sin 3x

| )

.y =e¥(c, cos2x+ c,sin 2x) +é x e**sin 3x
3. v =e*(c, cos3x+ c,sin3x) +é x ¥ sin 3x
4. y = e% (¢, cos2x + c,sin 2x) —é x e*sin 3x
Options :

68019148461. 1



68019148462. 2
68019148463. 3

68019148464. 4

Question Number : 16 Question Id : 68019112286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dy dy ’ AT
%.— 4—}+ 13y = e cos3x Eal
fdx- dx

o8l ¢, 3R ¢, W Hadie §

P PO l 5
L.y = e®(c, cos3x + c,sin3x) — e e=* sin 3x

I

. -
.y = e¥(c, cos2x+ cy5in2x) + g X esin3x
— . ——
3. y = e™ (¢, cos3x+ c,sin3x) + g x ¥ 5in 3x
. 1
4. y = e3*(cy cos2x + c,sin2x) — g e*sin 3x
Options :
68019148461. 1
68019148462. 2
68019148463. 3
68019148464. 4

Question Number : 17 Question Id : 68019112287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—— o . dy y+x—2.
Solution of the differential equation 2 =Y T* ~ < g
dx y—x—4

where c 1s an arbitrary constant

l. 22~y —dx =By —14=x¢
2.ox?+2xy—4x—8y—14=¢
3.x2+2xy—yi—4x+8By—-14d=c¢c
4, x2—2xy—y*—4x—8y—14=c



Options :

68019148465. 1
68019148466. 2
68019148467. 3
68019148468. 4

Question Number : 17 Question Id : 68019112287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A el WHipRor 2 22 2 oy FATHIR,
X, s

el ¢ 950 HOdiP ©

1.1':_}?:_4'1:_8}3_14:6
2. x2+2xy—4x—8By—14=¢
3.x*+2xy—y?—4x+8y—14=¢

4. x2—2xy—y?—4x—8y—14=¢c
Options :
68019148465. 1
68019148466. 2
68019148467. 3
68019148468. 4

Question Number : 18 Question Id : 68019112288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A 15 a skew-Hermitian matrix then for matrix B of appropriate order B4 Bisa ...
where g¢ is transpose conjugate of B

1. Hermitian matrix

2. Skew - Hermitian matrix

3. Either Hermitan or skew- Hermitian matrix

4. Neither Herminitan nor skew- Hermitian matrix



Options :

68019148469. 1
68019148470. 2
68019148471.3
68019148472. 4

Question Number : 18 Question Id : 68019112288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg A @ fde- s aa 3 d e B & U Swg@a on o, FARTBS
ferg.

wir

Rl ¢ . B BI CIRIUIS I §

1. SR Afea

2. fode-3fifRm At

3. 1 d gitfe 71 forla-g R Afea

4, AT B 3R 7 81 fade-giifRm Afcay

Options:

68019148469. 1
68019148470. 2
68019148471. 3

68019148472. 4

Question Number : 19 Question Id : 68019112289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68019148473. 1
68019148474. 2
68019148475. 3
68019148476. 4

Question Number : 19 Question Id : 68019112289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019148473. 1
68019148474. 2
68019148475. 3

68019148476. 4

Question Number : 20 Question Id : 68019112290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Matrixe Characteristics Root
A |Hermitian matrix 1. |Unit modules
B. |Skew-Hermitian matrix| II. |Diagonal elements of matrix
C. |Unitary matrix III. |Real
D. |Diagonal matrix IV |Either zero or pure tnaginary

Choose the correct answer from the options given below:

CA-IV. B-IIL, C-L, D-II
- A-IV. B-1III, C-II, D-I
A-IILL B-IV. C-ILL. D-I
AL B-IV. C-1. D-II

fas b2 —

e

Options :

68019148477. 1
68019148478. 2
68019148479. 3

68019148480. 4

Question Number : 20 Question Id : 68019112290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 & 1Y G110 DT GATT B

1 -1
g‘q ﬁﬁrﬁw%
A |sfRE= Al I (3T Hisgd
B |fie sdifama aftew| 1 |8fcsa & famdf aa
C. [t A I11. |[arsifde
D. [fq&ui Afcay IV. |37 4 T4 1 Y5 BIedi-is
- fau Y fdenl O 9 9ol S I |

1. A-IV, B-1III. C-I. D-II
2. A-IV, B-III. C-II. D-I
A-IILL B-IV, C-I1, D-I
4. A-IIIL B-IV. C-1. D-II

L]

Options:

68019148477. 1



68019148478. 2
68019148479. 3

68019148480. 4

Question Number : 21 Question Id : 68019112291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the characteristic root of a non singular matrix 4 is 4 then characteristics root of adj A 1s

1. 2)4]
5 &,
4]
3. 14l
A
4. independent of 3 and |4

Options :

68019148481. 1
68019148482. 2
68019148483. 3

68019148484. 4

Question Number : 21 Question Id : 68019112291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufe; fordt R-uwe Afea 1 faITaToR® Td 4152 8. 6 adj A B! fIAYARS qa

1. 1/4]
5. A

|A|
5t

A
4.4 3R A9 WA
Options :
68019148481. 1

68019148482. 2



68019148483. 3
68019148484. 4

Question Number : 22 Question Id : 68019112292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2

If matrix 4 = [ 5 =

] then matrix 45 is

1 [1041 1:]42]
12084 2083

~ [—1041 1042]

“" 11042 2083

, [—1041 1042]

" 11042 —2083

4 [—1041 —1042]
12084 —2083

Options :

68019148485. 1
68019148486. 2
68019148487. 3

68019148488. 4

Question Number : 22 Question Id : 68019112292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g HfeRa=[, I] qEHiCH 4Tl

4 3

1 (1041 l{H-E]

12084 2083
[—1041 1{142]

"1 1042 2083

3 (—1041 lﬂ42]
"L1042 2083

4 [—1041 —lCIfil-E]

" 1-2084 2083

| ]

Options :
68019148485. 1

68019148486. 2



68019148487. 3

68019148488. 4

Question Number : 23 Question Id : 68019112293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of ¢ for which Rolle's Theorem holds for the function f(x) = cos x + cos? x for

n
—SX ST g
- 15

QL

Options :

68019148489. 1
68019148490. 2
68019148491.3
68019148492. 4

Question Number : 23 Question Id : 68019112293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¢ BT T ol B % Xsm %ﬁm f(x)=cosx+ ccrszxgﬂ IE P YHY YR Bl %

: B

5
3 3t
4. n
Options :
68019148489. 1
68019148490. 2



68019148491. 3

68019148492. 4

Question Number : 24 Question Id : 68019112294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The series tad L Zak + i + e 18
32.4% 52 g2 72 gl

. a convergent series

. a divergent series

. a convergent series and converges to -1
. divergent series and diverges to o«

o =

e Laa

Options :

68019148493. 1
68019148494. 2
68019148495. 3

68019148496. 4

Question Number : 24 Question Id : 68019112294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

53{@?” 1.2 34 5.6 +...%|

3247 +5:. 6° +?:. 8°

1. U HfTERT g

2. T% HUHRT 4@l

3. U MR et ofR-1 5 SHfRRu el
4. fo T 48a 3R — R FETT BT 8

Options :

68019148493. 1
68019148494. 2
68019148495. 3

68019148496. 4



Question Number : 25 Question Id : 68019112295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The solution of the differential equation log (l + lag(;)) dx + (1 + ;) dy=01is

Jdog xy—xy=c¢

Ia =

.xlogxy—yv=c

L]

Aogxy+axy=c
4. x logxy+v=c

Options:

68019148497. 1
68019148498. 2
68019148499. 3

68019148500. 4

Question Number : 25 Question Id : 68019112295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T FHIBRT log (1 +mg(§)) ax+(1 +;£) dy = 0 BT GHIYUF B |

Jdog xy—xy=c¢

|

.xlogxy—y=c

L]

Adogxy+xy=c
4. x logxy+v=c

Options :

68019148497. 1
68019148498. 2
68019148499. 3

68019148500. 4

Question Number : 26 Question Id : 68019112296 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g(t)=- ——— . —W << W

[ | 9 i
If y ) T sl then measure of kurtosis 1s

1.3(n—-2)
3(n—2)
" (n—4)
(n—-2)
"(n—4)
3(n—4)
M

[ ]

Options:

68019148501. 1
68019148502. 2
68019148503. 3
68019148504. 4

Question Number : 26 Question Id : 68019112296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

g(f)=- -Iﬁ-I__.l-\:-.—JC < [« o0

afe iy as a7 dd PN DI AU §
VrBl373). By

1.3(n—2)

5 3n-2)

T (n—4)

(n—2)

3'{:?1—4.-]

. 3n—4)

- (n—2)
Options :

68019148501. 1

68019148502. 2



68019148503. 3

68019148504. 4

Question Number : 27 Question Id : 68019112297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

! ; i T T . : "
Let the random variable x be uniform on the interval (E’ 5)' Then P(cos x = sin x) 15

L] = | bl | =l | B

Options :

68019148505. 1
68019148506. 2
68019148507. 3

68019148508. 4

Question Number : 27 Question Id : 68019112297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HEd] BN [ TrefEsd =R x Hawd (g ;f) WRUHET 6, 9P (cos x>sinx) T

L.

-

3.

Wl PR Pw] B

4.
Options :
68019148505. 1

68019148506. 2



68019148507. 3
68019148508. 4

Question Number : 28 Question Id : 68019112298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If f(x) = 3(1-x)2,0 < x < 1. then the median of the distribution 1s

ot
o=

| -]
T —
| = b bd ] =
o T SN

L
——
]

e

Options:

680191485009. 1
68019148510. 2
68019148511.3
68019148512. 4

Question Number : 28 Question Id : 68019112298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1S () = 3(102,0 < x < 1. Tl [GORUT P ANLFT §

1 l-"rﬂ
&
G)

" 1-':3
A

| ]

L]

1\ /3
i)
Options :

68019148509. 1



68019148510. 2
68019148511. 3

68019148512. 4

Question Number : 29 Question Id : 68019112299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f(x) = i” 1 < x < . then the first quartile is
=

= W =l 20| i
u-||':h

Options :

68019148513. 1
68019148514. 2
68019148515. 3
68019148516. 4

Question Number : 29 Question Id : 68019112299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U ) =L, 1<x < oo Ol IGAT BIEISA ©

x

W ] O |

15
Options:



68019148513. 1
68019148514. 2
68019148515. 3

68019148516. 4

Question Number : 30 Question Id : 68019112300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The distribution function of x 1s

0 : x<l
l e A
fx)=- 6 ,then the p(1 = x = 5) is
' 1
— 1 2<x<3
6
Lz 3xa
it
2
2.3
6
5. 2
7
i.%
9
Options :

68019148517. 1
68019148518. 2
68019148519. 3

68019148520. 4

Question Number : 30 Question Id : 68019112300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



x @1 fdaR0 Ba

U 2 ¥l
i:rir-:ﬂ ]
f(szJ? A9 p(1=x<57F
— 1 2<x<3
6
L 2 3=x
. n
2
5 2
6
g 3
7
4.2
9
Options:

68019148517. 1
68019148518. 2
68019148519. 3
68019148520. 4

Question Number : 31 Question Id : 68019112301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f(x)=xe™: 0 <x < x, then the median (M) of the distribution is

[

1
. Mzlog(1+ M) =log (E)

| B

log(1+ M) =log G)

Tad

. 5
. M;log{1+ M) =log (:})
4. M, logiM;) = log?2

Options :

68019148521. 1
68019148522. 2
68019148523.3

68019148524. 4



Question Number : 31 Question Id : 68019112301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hﬁ{f{ﬂ = xe™¥: 0 <x < oo, Al [AR0I D HITEDDBT (11,) g

. 1
1. Mslog(1+ M) =1log (E)
: 1
2. log(1+ M) =log (:1-)
. 5
3. Mzlog(1+ M;) =1log (—)

4
4. M, log(M,;) =log2

Options :

68019148521. 1
68019148522. 2
68019148523. 3

68019148524. 4

Question Number : 32 Question Id : 68019112302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the data relating to the yield of dry bank (X;). height (X,) and girth (X3) for 20 plants, the
following correlations coefficient is given by , = 0.60, 75 = 0.75, n; = 0.68 then the multiple

T
correlation coefficient R ,,1s (upto two decimal places)

1.0.13

2.0.26
3. 035
4.0.57

Options:
68019148525. 1
68019148526. 2

68019148527. 3



68019148528. 4

Question Number : 32 Question Id : 68019112302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 Q1] & 10 S0P € (x,). HAT5 (v,) AR IR (x,) 1 dice § Haled sfidvsl 3. Fafaraa
GGG UMD 1, = 060, 73 = 075, 155 = 0.68 TR 14U TU &, Tl TPITUD Fewiay 0l
2 % (@l 3umgd &l aw)

Ry 23

1. 013

2.0.26
3.0.35
4.0.57

Options :

68019148525. 1
68019148526. 2
68019148527. 3

68019148528. 4

Question Number : 33 Question Id : 68019112303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let R be the observed multiple correlation coefticient of a variable with k variables in a sample
of size n from a (k+1) variate normal population. If p is the corresponding multiple correlation

coefficient m population then to test Hy:p=0Y Hy: p= 0. Then the test statistic is

RE
e
- Refn—k—1

R*(n-k)
Tk-)1-R)

Rin-k-1)
T k-2)(1-R)

3.



Options :

68019148529. 1
68019148530. 2
68019148531. 3

68019148532. 4

Question Number : 33 Question Id : 68019112303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT DL (B RUD (k+ 1) T THN TT9EH ¥ PR o PUE H 3R k Wb TY T
R BT YI& UDTED Gggae 0N 5| Ui # T et SRR Hy:p -0 Hy:p+0. B
T80T T U Gede O ¢ | A Tie Fiferet

RZ
=
Rin—-k-1)

k(1 -R?)
R*(n—k)
Tk-D-R)
R*n—k-1)
“k-2(1-R)

T

Options:

68019148529. 1
68019148530. 2
68019148531.3

68019148532. 4

Question Number : 34 Question Id : 68019112304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- oy ; . X—a y—b ; b
If regression cocifficient of y on x 18 b, and 1f 5 = =" then the regression coefficient

b,y 18

Options :

68019148533. 1
68019148534. 2
68019148535. 3

68019148536. 4

Question Number : 34 Question Id : 68019112304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ale x TRy BT U1 011 »,,, § AR UG u:*“f‘ﬂﬁ%.%.a‘mﬁﬂm?wbm%

h

[y

Byx
h

k
3. K B

T

| )

B

o

yx
h
g 7. .
Options :
68019148533. 1
68019148534. 2
68019148535. 3

68019148536. 4

Question Number : 35 Question Id : 68019112305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Let x~N(0,1) and Y=X+|X|. Then E(¥3)1s

16
24/(m)
a8

V(2
16

V(2
8

24/(m)

Options :

68019148537. 1
68019148538. 2
68019148539. 3

68019148540. 4

Question Number : 35 Question Id : 68019112305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIHT x~n(0,1) 3R Y=X+X|. 79 E(Y?®) g

16
" 24(m)
a8
(2
16
V(2m)
8
2v(m)

| )

L]

Options :

68019148537. 1
68019148538. 2
68019148539. 3

68019148540. 4

Question Number : 36 Question Id : 68019112306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let x; and x, have the joint p.d.f

Xy, DSx, <<, Sl
_— ={ 4 s
flxy,xa) 0, otherwise

Define y = 2% Then E(Y) 1s

| ]

4,

T
e | s a2

Options :

68019148541. 1
68019148542. 2
68019148543. 3

68019148544. 4

Question Number : 36 Question Id : 68019112306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A wifoly & x, 1R x, BTG pdf

:5 Xy, D<xy < S| < 1
X1.X9) =1 B -
Jix:;) | o SEb]

r = 254 71 o R 81 AE (1) @

| )

4.

faa
e R I e o e

Options :

68019148541. 1
68019148542. 2
68019148543. 3
68019148544. 4

Question Number : 37 Question Id : 68019112307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ¥, <Y, < Y3 < ¥, denote the order statistics of a random sample of size 4 from a distribution
with p.d.f
[2x : 0<x<]

ﬂﬂ:h : - T&nPe{h)ﬂ

143
' f255

.243/255
.24?/255
'18?/255

Options :

L

s

68019148545. 1
68019148546. 2

68019148547. 3



68019148548. 4

Question Number : 37 Question Id : 68019112307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[2x- < X< i
AP v, < v, < v, <V, p.df f(x]:J“;l <<l iy RO R 4 F TR
. T

Uaesl & ®H iked! & fe=iid Fd o
mrfen)?

. 143/255

243/
/256

1 247
3. %366
I1a?f255

Options :

ok

=

=

68019148545. 1
68019148546. 2
68019148547. 3

68019148548. 4

Question Number : 38 Question Id : 68019112308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let x be a random variable with p.d.f f(x)
0, X=a
L x=b

given by f(x) = {
the first quartile 'q' is the point such that £(g,) = i Lety, < ¥, < ¥, be an ordered sample of size 3

from the distribution of x then
P(y,>q) 18!

i 15/32
1|21/32
3|29/32
4.1/,

Options :

68019148549. 1
68019148550. 2
68019148551. 3
68019148552. 4

Question Number : 38 Question Id : 68019112308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT p. d. £7(x) & WY x U UIE(&5® o g, ol
fo={y 5iERfErmE

WWW%@WW%% P{qun::i.?ﬁlwfiﬁ%ylc:nng%ﬁﬂm@&W_%ﬁ
% PHES Yided . a8

thﬁm)%:

1|15/32
2'21/32
3|29/32
4. 1/2

Options :
68019148549. 1

68019148550. 2

68019148551. 3



68019148552. 4

Question Number : 39 Question Id : 68019112309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let x; and x, are the 1.1.d random sample of size 2 from a standard normal distribution. Them

the distribution of y = 1~ *2)” s

L %
.
2 Xy
3. Gamma (1, 1)
4. Gamma (2, 1)

Options :

68019148553. 1
68019148554. 2
68019148555. 3

68019148556. 4

Question Number : 39 Question Id : 68019112309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Waﬁ%y:‘&z—xﬂ: x, AR x, U HHS I R0 ¥ HPR 2 F e uogy
£ 79 FIfamRore

L 7o

o
2 Xy
3.1, 1)
4,71 (2, 1)

Options :
68019148553. 1
68019148554. 2

68019148555. 3



68019148556. 4

Question Number : 40 Question Id : 68019112310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let X be a random variable such that £(x) < wand p (X g 0 n x) _p (X <
T

%—x) Jforall y e p.

then

[y

: E(K)r::% and median (x) q:%

| ]

- E(x}:% and median (x) %

3. E{K}{% and median (}{}:%

=N

: E{K}:% and median (x) ;%
Options :

68019148557. 1
68019148558. 2
68019148559. 3
68019148560. 4

Question Number : 40 Question Id : 68019112310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Do B Tl x € p T AT, X TP TRE(DS RFIBREE £00) <0 3R
P(XE %+x) =P(X:_: %—x) . dd

—

EQ)<; SRAMLDT (<
| E{]{}:% 3R AT (K)%
; E{_‘J{){% 3R AT (x):%

E()= SRS (x>~

Options :

| )

L]

e

68019148557. 1



68019148558. 2
68019148559. 3

68019148560. 4

Question Number : 41 Question Id : 68019112311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If m.g.f of a random variable x 1s given by
M, (t) = exp(2t + 32 t2) then distribution of x 1s

1. N(2,32)
2. N(2,64)
. N (4,64)
4. N (4,32)

L]

Options:

68019148561. 1
68019148562. 2
68019148563. 3

68019148564. 4

Question Number : 41 Question Id : 68019112311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe ford aE5e R x Pl m, g. f.. M, (t) = exp(2t + 32 tf)mﬁtﬂ W%ﬂaﬁﬁﬁﬂwg

1.N(2,32)
2. N(2,64)
3. N (4,64)
4. N (4,32)

Options:
68019148561. 1
68019148562. 2

68019148563. 3



68019148564. 4

Question Number : 42 Question Id : 68019112312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint p.d.f of three random variable x, y and z is given by

flx,y,2) = e~x%42).0 < 1, ,z < oo then the cumulative distribution function of x. y, and z 1s given

by

Flx,yz)=e¥e®
Floyz) =e=(1—e?)e™
Flxy,2) =e*(1—e™) (1—e7)
) = fl—E_‘)fl—E_))(l—Ez)

.I;..r_.ul._al—l

F(x,y,z
Options :
68019148565. 1
68019148566. 2
68019148567. 3

68019148568. 4

Question Number : 42 Question Id : 68019112312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 TrEfee W y 3R 2 WW p.d. L. flx,y,2) = et o <y 3,2 < m%ﬂa X 3R 2

&1 Gt faeRvr e fo S 8

l.F(x,y,z) =e¥e*

2.F(x,y,2) =e*(1-eY)e =
3.F(xyz)=e*(1-e¥)(1-¢7F)
4Fxyz)=(1-e™)(1-e?)(1-e)

Options :

68019148565. 1
68019148566. 2
68019148567. 3
68019148568. 4



Question Number : 43 Question Id : 68019112313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The joint distribution of random variable x; and x5 1s given by

x1+x3 . G{:xllx:‘il

flrxa) = [EI ; otherwise T

i ]
Then prjo<x < J0<m <
5 :

T %
A =

-J

L]

4.

[¥3] Al .-r-x||—~|—~|
H|"‘M|"*’ o

Options :

68019148569. 1
68019148570. 2
68019148571.3

68019148572. 4

Question Number : 43 Question Id : 68019112313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTelasd R x1 3R x2 BT Y faarul
Xx+xy 0<xy,xy <1 -
f{_ﬁ,xg};-;[ ed e gmﬁmwm%aapr(oﬁxlﬂi,n{x:ﬁ)é
10 : e 4 4

| ]

w
it RN N



Options :

68019148569. 1
68019148570. 2
68019148571.3

68019148572. 4

Question Number : 44 Question Id : 68019112314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint m.g.f of jomtly distributed random variable x and y having jomt p.d.f f(x,y) as

-y i D<x<y<ow.
f'[.x:}} = {[] : otherwise i
L=t -4)" -1
2.(1-t,—t;) (1—&)?
3.

(1=t (1-t3)
(F=H=1) [

o

Options :

68019148573. 1
68019148574. 2
68019148575. 3

68019148576. 4

Question Number : 44 Question Id : 68019112314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fey)=1€ 0SEIT SR T pd f () T YU ARG TTEfR5 W x

0 : CEat|

Gﬁ?}fﬁﬂlﬂaﬁm.g.f S

1L.(1-4-t)t(1—t)?
2.(1-ty-t;) (1-t)7?
(-t —t)7 (1-ty)
4(1-t,-t;) (1-t)



Options :

68019148573. 1
68019148574. 2
68019148575. 3
68019148576. 4

Question Number : 45 Question Id : 68019112315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

I
[_‘ -l+x<y<x+l-1<x<l

4 . Then E(Y[X) and Var(Y|X)

The jomnt p.dfofxand yis f(x,y) {
0, otherwise

are.

1. |x

r

= e L]
e

(i L S i ]

2.(
3
4

1
1

ALy
A
Ny

X,

ot

Options :

68019148577. 1
68019148578. 2
68019148579. 3

68019148580. 4

Question Number : 45 Question Id : 68019112315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| —

TEE (VX) 3R Var

—l+x<y<x+l-l1<x<l

—

A4

x 3R y PTHYH pdf ® f(x, y) =1
|
(YX) &

(<)

2.(1,y)
3. (1)
4. (xy)

Options :

68019148577. 1
68019148578. 2
68019148579. 3

68019148580. 4

Question Number : 46 Question Id : 68019112316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the random variable x and y have the joint p.d.f
. frdy ; D<xy<1
fly) = { 0 :  otherwise

then Cov (X, ¥) 1s

_1
12
7 1

12
1

144
-1

144
Options :

68019148581. 1
68019148582. 2
68019148583. 3

68019148584. 4



Question Number : 46 Question Id : 68019112316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I oG Al =R x 3Ry & fe1g
x+y 0<xy<l H’%ﬂﬁ{pdf%

(X. V) =1
Fi%a) lo EED]
dl Cov (X.Y) ©

1 -1

12
5 1

32

3 1
144

Options :

68019148581. 1
68019148582. 2
68019148583. 3

68019148584. 4

Question Number : 47 Question Id : 68019112317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jomt p.d.f of two random variable x and y 13

- Sxi"'x: : ﬂ{:xl{x:{l
flryx0) = { 0 : otherwise

then £(X,.X3 ) is:

| ]
|| 2] w

=
M||—~t\.‘|
=]



Options :

68019148585. 1
68019148586. 2
68019148587. 3
68019148588. 4

Question Number : 47 Question Id : 68019112317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l OTef=9e 9R x 3R y &1 U pdf §

Bxp+x; :0<x.xp<]

(x1.%7) =+
AR 0 B

then L{t,h] 15

!J
|| 2| w

= P
= =

4.

(%]
[y

Options :

68019148585. 1
68019148586. 2
68019148587. 3
68019148588. 4

Question Number : 48 Question Id : 68019112318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The jomnt p.d.f of random variable x and y 1s:
. - 2 i ﬂ = Xy < X3 = l
f{x”x:]_'{ﬂ ; otherwise

then p ( Y %) 18

Ol b | o] L] =

Options:

68019148589. 1
68019148590. 2
68019148591. 3
68019148592. 4

Question Number : 48 Question Id : 68019112318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grefasd @R x R y BT UG pdf o:
_ 2 & D<muns <15 1) 2
X1.X3) =1 - PNy =] e
FEeD =1, | g (% >5)
1.
4
3.0
4
5.5
2
4.2
8
Options :

68019148589. 1
68019148590. 2
68019148591. 3

68019148592. 4



Question Number : 49 Question Id : 68019112319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let x; and x, have the p.d.f

Bxing ﬂ‘:’xi{:x:{l
0, otherwise

fleg,xz) = {

Then v (X,) 1s:

1 L

75
12

‘75
e
75
4. L
25
Options:
68019148593. 1
68019148594 2
68019148595. 3

68019148596. 4

Question Number : 49 Question Id : 68019112319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= [Bxixy, ; O<x <Xy <l 3
W%xlﬁxzﬁp.d. f. f(_x-l,_r_;}:i ;li' , FC‘:H 2 %HEV{X:]%:

1L

75
2
75
4
' 75

L
25

[ ]

(%]

Options :

68019148593. 1



68019148594. 2
68019148595. 3

68019148596. 4

Question Number : 50 Question Id : 68019112320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let x ~ b (1,8). Then fisher information in a random sample 1s

1
92 (1—8)
1
8(1—8)
1
"8 (1-6)2
1
1-—-8

Options :

68019148597. 1
68019148598. 2
68019148599. 3
68019148600. 4

Question Number : 50 Question Id : 68019112320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AP x~ b (1,6). Td TP T 99 T bR THPRI B

1
g2 (1—8)
1
‘8 (1—a)
1
"G (1—6)2
1
1

[ ]

Taa

Options :



68019148597. 1
68019148598. 2
68019148599. 3

68019148600. 4

Question Number : 51 Question Id : 68019112321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let Y, = min (x;) and Y, = max (x;) are joint sufficient statistics. Also, 6-1<Y, <Y, <6+1

then maximum likelihood estimate of 6 1s:

o]

Options:

68019148601. 1
68019148602. 2
68019148603. 3

68019148604. 4

Question Number : 51 Question Id : 68019112321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
HIHTY = min (x;) AR Y, = max (x;) Eﬂﬂﬂ w0 8 i Hﬁﬁ %I WY 6-1<Y; <Y, <0+
1dimle (maximum likelthood estimate. Livelihood) of 8 %1

1Y

3%,
3 Nty

*I. n




Options :

68019148601. 1
68019148602. 2
68019148603. 3
68019148604. 4

Question Number : 52 Question Id : 68019112322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let X be a Geom(0.4) random variabe. Then p(X =5|X = 2) i3

.0.0864
.0.0304
. 0.0532
4.0.0112

Options :

|

L]

68019148605. 1
68019148606. 2
68019148607. 3
68019148608. 4

Question Number : 52 Question Id : 68019112322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T X T Geom (0.4) TEISH TR . 06 px=5|x22) ©

.0.0804
.0.0364
.0.0532
4.0.0112

Options:

- =

L]

68019148605. 1
68019148606. 2



68019148607. 3
68019148608. 4

Question Number : 53 Question Id : 68019112323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lety, =3.0,x, = 40,x; = 35,x, = 2.5 be the observed value of a random sample from the probability

dmmyﬁmmm,ﬂﬂM:%Gfﬁ”+j;€”§+eﬁ) x> 0,8 > 0. Then the method of moments
g g

estimate of B 15

Options :

680191486009. 1
68019148610. 2
68019148611.3

68019148612. 4

Question Number : 53 Question Id : 68019112323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ol x, = 3.0,x, = 40, x5 = 35,x, = 25 WAIICC] SR HaRH,
ﬂ:xm):%(ge—x-*9+gi:e-xff=+e-x), x>0,6>0 F3SATTA DT WAGTAF R T9 ¢ P &0

FH P AR

.33

.23

4.0
4.1.0

Options :

Lo o R

680191486009. 1

68019148610. 2



68019148611. 3

68019148612. 4

Question Number : 54 Question Id : 68019112324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let x,,x,,%3,..., %, be a random sample of size 'n' from the Cauchy distribution with Probability
density function flx) =

1 . - . .
——,— < x <o, Then the density function of X 15 :
m(1+x2)

1
rr{l-l—

1.

|

)

“ ne(1+ n2%)
1

. n(1+n2x)
1

Options :

68019148613. 1
68019148614. 2
68019148615. 3

68019148616. 4

Question Number : 54 Question Id : 68019112324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T ;55,530 ASITCIC] SRICT PR flx) = ——, —o0 < x < o0 & 1Y DI [SHISIRH

7a g B )
m(14+x2)

Y PR 'n' DI U Ulefasd A1 5| 76 X BT SIe] HaRH 3

1
rr(l+

)
“nr(1+ n? E:}
1

(14 %)
1

% nn(1+ EZ}

= el



Options :

68019148613. 1
68019148614. 2
68019148615. 3
68019148616. 4

Question Number : 55 Question Id : 68019112325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following 1is the frequency distribution of a random variables X:

1
f{ﬂ}:[z , 0SX< A
] , otherwise

In order to test H,:A = 1 against H,:A = 2. a single observation is taken on X. Then the size of
type-11 error for the critical region {x: 0.5 <x} 1s

. 0.25
.0.50
.0.30
4.0.40

Options:

b =

LN

68019148617. 1
68019148618. 2
68019148619. 3

68019148620. 4

Question Number : 55 Question Id : 68019112325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue JTefesd o) X &1 SM1gH [davul Fafaiad

L0y <4

-

C:\'.._.,

id
flx.2) =1
| agq

Hyh = 2 B (9G H,:A = 1 BT IRI&UT B4 o [0, X TR Uhd 3fqaid- fordl offdl 5. fhe
TEdYUl & (105 < »} P [0 YPR-IL FfE BT PR §

. D25
.0.50
.0.30
4.0.40

Options :

L N R

68019148617. 1
68019148618. 2
68019148619. 3

68019148620. 4

Question Number : 56 Question Id : 68019112326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let p be the probability that a coin will fall head in a single toss. In order to test
Hy: p= % ¥ H;:p= % the coin 1s tossed five tiems. H, 15 rejected if more than 3 heads appear.

then the power of the test 1s:

23

(il
216

216
81

216
162

216

3

4.
Options:
68019148621. 1
68019148622. 2

68019148623. 3



68019148624. 4

Question Number : 56 Question Id : 68019112326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T p YHTET ¢ (65 U a1 U g1 e & XY & RW FR SI9T| g, p%sg B, p%ﬁ

T Y o foru, Riaes &l U WoR 3 39Te 9 6. e 3 8 3ifie o fears 3o & at
H, &1 SRIPR X foTT oI 8, o e o} widk &

123

216
B

3

1216
162
4

216

Options :

68019148621. 1
68019148622. 2
68019148623. 3

68019148624. 4

Question Number : 57 Question Id : 68019112327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The p.dfofar v. X1s given by

To . 0<x< o850

: otherwise

1
flx,0) = {9 p
0

In order to test Hy: 8 = 2 against Hy: 8 = 1. a random sample X7. X; of size 2 1s drawn. The critical

region of the test is W ={(x,,x,): 95 < x, +x,) . Then the significance level of the test is:

L p(x%y <95)
2.p (%4 >95)
3. p (x%x) < 95)
4.p (> 95)

Options :

68019148625. 1
68019148626. 2
68019148627. 3

68019148628. 4

Question Number : 57 Question Id : 68019112327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

1 -4
ﬁj—\:ﬂ?‘l p.Xa'ﬁtﬁ- 30[ w-_i‘"(#ﬁ)=[59 /8 1 0£x. 0,080 Wﬁmﬁlﬁﬁ %Hl: B:1$
e

0 : a0
T Hy: 6= 2 BT RIGUI SR S (010, HPR 2 1 A5 T X1, X2 FISH 8. Tegu
WW@HW ={(xyx,): 95 < xl-l-x}_ﬁ}i:hqﬁ&!m@%f_dw%}

L. p(x*y <95)
2.p (¥ 2 95)
3.p (% <95)
4.p(x*p > 95)

Options :
68019148625. 1
68019148626. 2

68019148627. 3



68019148628. 4

Question Number : 58 Question Id : 68019112328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have a Bin(n,p) distribution. The maximum likelthood estimate (MLE) of the variable of { 13
: n

E[E ( : E)] which is consistent but not unbiased. An unbaised estimate 15 obtained by multiplying MLE by
nin n

1:r1—l

n
n

n—1
3. (n-1)%
n?

% (n—1)
Options :

q

68019148629. 1
68019148630. 2
68019148631. 3

68019148632. 4

Question Number : 58 Question Id : 68019112328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M1 X 31 a0 ginnp) 812 a?maf%wwaﬂ]@mum [_( __H%Gﬂ
g@ﬁ%ﬁ%ﬁm&{ﬁ%l MLE 31 e 0N &R U Hﬁa‘rﬁaaﬂﬂﬂwﬁa‘mm

111—1
Cn
n

| )

n—1
(n—1)%
n?

(n—-1)

:I;.L.u

Options :

68019148629. 1



68019148630. 2
68019148631. 3

68019148632. 4

Question Number : 59 Question Id : 68019112329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i - ~ N i i )
Let T be an unbiased estimated of 8. However T< 1s not an unbiased estimate of 6 The extent of

. . . . 7 J
biag in estimating 6 by T 1s:

1.8.D.(T)
2.E(T?
3L.E(T
4. B3 (T

)=~ S$.D.(T)
)~ Var (T)
)~ Var (T)

[ ]

Options:

68019148633. 1
68019148634. 2
68019148635. 3
68019148636. 4

Question Number : 59 Question Id : 68019112329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| i S 4.1

A1 T Bt 6 1 SM-TS04 SFAT B, GTRiiich 72 il 2 1 T-1ou8y ST 781 &. 62 BT 12
A T F gaiag ot 9 g

1.8.D.(T)
2.E(TH-SD.(T)
3.E (T - Var (T)
4. EX(T) - Var(T)

Options :
68019148633. 1
68019148634. 2



68019148635. 3
68019148636. 4

Question Number : 60 Question Id : 68019112330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. ; 157 2, :
Let xy. X5, .... X, be a random sample from a N(n.2) population. Then -Z-Yr- i an unbiased
g n
i=1

estimate of

.1+p‘3

-

Fa

-2 =

Ll
.2+p‘3

4. }12—1

L]

Options :

68019148637. 1
68019148638. 2
68019148639. 3
68019148640. 4

Question Number : 60 Question Id : 68019112330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A 1y, x5, ... x, 10U Nu.2) TGS 4§ U UEfad A 6| 09 %fo [epeyehT S8 3FHH &

1.1+p2

2 'u:

LA “2

4. qu —1
Options :
68019148637. 1

68019148638. 2



68019148639. 3

68019148640. 4

Question Number : 61 Question Id : 68019112331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The regression lines of X5 on Xy and Xy on X5 are X5 = a Xy +P. X =#X> + 6 then Zx? 18

]. . \.'IE
IIF
4
T

D

g =
o
i
g \;‘E
Options :
68019148641. 1
68019148642. 2
68019148643. 3

68019148644. 4

Question Number : 61 Question Id : 68019112331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X, on X \3?]?_1'1 DnX_«_ﬁﬂﬁWQ@ d X=aX) X =1k + sEdl :_ g

LT
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|
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3
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"n'f

=

Options :
68019148641. 1

68019148642. 2



68019148643. 3
68019148644. 4

Question Number : 62 Question Id : 68019112332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relation between correlation ratio () and correction coefficient () 18

=i
e
222

4. — <1
s

fad P =

Options :

68019148645. 1
68019148646. 2
68019148647.3
68019148648. 4

Question Number : 62 Question Id : 68019112332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019148645. 1
68019148646. 2
68019148647. 3

68019148648. 4



Question Number : 63 Question Id : 68019112333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each of 200 workers of a factory takes his lunch in one of four competing restaurants, How
many seats should each restaurants have so that on average. at most on in 20 customers will
remain unseated

1. Seats > 25
2. Seats > 40
3. Seats > 10
4. Seats > 60

Options :

68019148649. 1
68019148650. 2
68019148651. 3

68019148652. 4

Question Number : 63 Question Id : 68019112333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U PREH P 200 471 3 8 el TR U1 iR H 9 U@ H S0 E1T6R 1 HIH Rl ¢
T RI H feberit Hic BiHl ARy i i, e ¥ 3o 20 U6 fa1 R 76U
Y
L d=25
. =40
3. @210
1. =60
Options:
68019148649. 1
68019148650. 2
68019148651. 3

68019148652. 4



Question Number : 64 Question Id : 68019112334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The round off error to the two decimal places has uniform distribution on the mnterval (-0.05.
0.05). then the probability that the absolute error in the sum 1000 number is less than 2

1. 29(1.96)

2. 2¢(2.19)

3. 2¢(2.19)-1

4. 2#(1.96)-1
Options :
68019148653. 1
68019148654. 2
68019148655. 3

68019148656. 4

Question Number : 64 Question Id : 68019112334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l 3T QI & (U ASS 31 I BT UHHHM faaRu € (-0.05.0.05), T AT 1000 WA
U Ui e 2 AP GH B G &

1. 2¢(1.96)
. 29(2.19)

| ]

3. 2¢(2.19)1

4.2¢(1.96)-1
Options:
68019148653. 1
68019148654. 2
68019148655. 3

68019148656. 4



Question Number : 65 Question Id : 68019112335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ¥, = B+ By X; +u;_ Band B, are the estimate of g, and B, then Cov (4, ,§,)

[

. X '.Vr:".';r'l:,éi’E ]
; —X Var { ,;f_, :I

I

s

V(A
4.~ 7(B)
Options :
68019148657. 1
68019148658. 2
68019148659. 3

68019148660. 4

Question Number : 65 Question Id : 68019112335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT B b g, 3R g, BT SHTAF ¥ = B+ 5, X; +u;. B 3R 3, 8. 9 Cov(dy,fa)

—

. X Var [ ,F.'_’i’ 2 ]
X var(py)

| (]
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' _I?']Tml:_b‘l]

" e %Var{ E]]
Options:
68019148657. 1
68019148658. 2
68019148659. 3

68019148660. 4



Question Number : 66 Question Id : 68019112336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 200 employees i a hospital. The table shows the number of each type of employee in
a hospital.

|Docmr” Nursing H Admin H Other |
[ 100 || 20 | 52 | 28

A stratified sample of size 50 1s required. Using proportional allocation technique the numbers of
Admin Staff should be chosen.

e L el
Tl ik Bl
L O a2 Ln

Options :

68019148661. 1
68019148662. 2
68019148663. 3

68019148664. 4

Question Number : 66 Question Id : 68019112336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019148661. 1
68019148662. 2
68019148663. 3
68019148664. 4

Question Number : 67 Question Id : 68019112337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x, ¥) and g (x, ) be two functions of random variables X and I then.
Cov (f(x,y), 8(x,¥)) is:

. E(cov (f(x. ). g (x. ) - E(f (x. ) E(g (x. ¥))

. E(cov (f(x,¥). g (x. ¥) | ¥) + cov (E(f (x, ¥) | x]. E(g (x.¥) | ¥]
. E(cov (f(x.¥). g (x, ¥) | ¥) - cov (E(f (x. ¥) | x]. E(g (x,¥) | ¥]
4L Ef(xylx)-E(g(x.y)|y)

Options :

b

L)

68019148665. 1
68019148666. 2
68019148667. 3
68019148668. 4

Question Number : 67 Question Id : 68019112337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAT %f[x, y)and g (x. v) fopit UTefas® IR X AR Y& &l Bad o, ad
Cov (£(x,¥),8(x,y)) &

. E(cov (f (x. ). g (x. ) - E(f (x. »)) E(g (x. ¥))

 E(cov (f(x.¥). g (x. ¥) | ¥) + cov (E(f (x, ) | x]. E(g (x.¥) | ¥]

. E(cov (f(x.). g (x. ) | ) - cov (E(f (x. ¥) | x]. E(g (x. ) | ¥]
4 Ef(x.ylx)-E(gx.») 1y

Options:
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68019148665. 1
68019148666. 2
68019148667. 3

68019148668. 4

Question Number : 68 Question Id : 68019112338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sample proportion p; is an unbiased estimator of the population proportion P; . and its

Variance 1s

N—n
"(N—1)n
N—n
2. = Pi(1-P
Tl

Pi(1— Pi)

|

.——Pi{1—Pi

n(N} i :
N—n

4 —P2(1-P?
(N—1n1 ( )

Options :

68019148669. 1
68019148670. 2
68019148671.3

68019148672. 4

Question Number : 68 Question Id : 68019112338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT 3UTd Pi ST S{UId Pi 1 U (19 HTHHS 5. 3R SHI (4904 &
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Options :

68019148669. 1
68019148670. 2
68019148671.3

68019148672. 4

Question Number : 69 Question Id : 68019112339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The dwelling units occupied by owners in the city A and B spread over 105 blocks. A sample of

15 blocks was selected by SRSWOR. For given Z Y, =360, Z Y2 = 9800, then EST (Var(Y,) )

up to two decimal places 1s:

.1.87

. 5.80

1125
4.0.37

Options :

LIPS I

68019148673. 1
68019148674. 2
68019148675. 3

68019148676. 4

Question Number : 69 Question Id : 68019112339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e A R B H ATf0®! GRITEaN SMARY SRyl - 105 &P 4 [9%IR 11, SRSWOR
BRI 15 T 1 TP T T T U1 FGUTT ) v = 360, ) 122 = og0o, P o 31 S
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Options :

68019148673. 1
68019148674. 2
68019148675. 3
68019148676. 4

Question Number : 70 Question Id : 68019112340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IfX;. ... X, are random observation on a Bernoulli variable X taking values 1 and 0 with

G : : Toxefs Xxey . :
probabilities p and (1-p) respectively. then == 1-=- | 1§ a consistent estimates of;
n n

)

JpF
B

&

. p(1-p)

. p(l-p]2
Options :

= L) [ -] —

68019148677. 1
68019148678. 2
68019148679. 3

68019148680. 4

Question Number : 70 Question Id : 68019112340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g X,. ... X, TP lci oR WX BT A 1 3R 0 FH: HHGIS p 3R (1-p) ATY,
e araaiep 8. d =% 1- =" | o U SR &

i: pj
,_P
S
3. p(1-p)
4. p(1-p)’

Options :

68019148677. 1
68019148678. 2
68019148679. 3

68019148680. 4

Question Number : 71 Question Id : 68019112341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let Y. Y,. Y3 and Y, can be written as the following three mutually orthogonal confrasts:

Wy Ty2-¥3-Ya

(W) y1-y2-¥3 Vs

(i) yy - y2 T ¥3- V3

Then the sum of squares due to a set of mutually orthogonal contrast has the distribution:

1. g2y2with 3 d.f.
2. g2t with 4 d.f
3. y2with 4 d.t.
4. twith 3 d.f

Options :

68019148681. 1
68019148682. 2
68019148683. 3
68019148684. 4

Question Number : 71 Question Id : 68019112341 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OHIY,. Y, Y; R Y, P FafaRed uReERe sie foRIumTH & U H foral o 9o
Oy1Y2-¥5-Y4

(i) y1 - y2-¥3 + ¥4
(

i) ¥1 -2+ ¥3- ¥4
79 RTINS &0 ¥ SHiMHa HeRe & U6 Je & DR b 31 &7 faa &

122, 3 SIUG & Y
2. o2 A SITE & 1Y
3.4 ASITE & 9y
4.tH Y 33D

Options :

68019148681. 1
68019148682. 2
68019148683. 3

68019148684. 4

Question Number : 72 Question Id : 68019112342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a randomized block design (RBD) with 't' blocks and k treatment. Let S§ and 53

denote the block mean square and error mean square respectively. Then the efficiency of the
RBD as compared to completely randomized design is

" (r—1)si+ r(k—1)s]

1.
S oy
5 . Tsp+ks?
T =Dk - 1)s?
(r—1)si+ (k- 1)s2
3 E= N - -
d (rk —1)s2
A (r— 1)sg + r(k —1)s2

(r— (k- 1)s
Options :
68019148685. 1

68019148686. 2



68019148687. 3
68019148688. 4

Question Number : 72 Question Id : 68019112342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v S0 3R k ITIR & WY TH UESS sile [$o1E (3Rersh) R =R X AF 57
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Options :

68019148685. 1
68019148686. 2
68019148687. 3

68019148688. 4

Question Number : 73 Question Id : 68019112343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a Latin Square Design (LSD) with their factor, each at k levels. Let 5% and 5.2 denote
the row mean square and error mean square respectively. If columns are treated as blocks, then
the row efficiencies of the LSD 1s given by

Sz+(k—1)5;
kS;

(k—1)S;+5;
kSE
Sz+kSE
(k-1)s;
kSZ+ 52
(k- 1)s

1

q

Options :

68019148689. 1
68019148690. 2
68019148691. 3

68019148692. 4

Question Number : 73 Question Id : 68019112343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K ¥R R YA & 1Y, 307 RS a1l U Ae TR [S1e (Tavae)) | faR &,
T fdvs, 2 9IR 5,2 H9: fad ATed @ 3R Ffe /e @ @) FRefud ad & | afe Siad
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Options:

68019148689. 1
68019148690. 2
68019148691. 3

68019148692. 4



Question Number : 74 Question Id : 68019112344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a randomized block design with 'K’ treatments and 't' replications (r > k). replication of the it

treatment 1s missing in the i block. Then the estimate of the missing value s

| o KT+7Bj -G
RENCESVITEEY
5 % =D TG
e (rk)
3.5 kTi+ (r—1)Bj
R TV R
4 oo KTUETB]
T T-DGk-D
Options :

68019148693. 1
68019148694. 2
68019148695. 3

68019148696. 4

Question Number : 74 Question Id : 68019112344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019148693. 1
68019148694. 2

68019148695. 3



68019148696. 4

Question Number : 75 Question Id : 68019112345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a randomized block design for 2- factorial in 't' replication. The degree of freedom for
the error term 1s:

L(-1)
2. (r-3)
3.3(r-1)

4. (3r-1)
Options :
68019148697. 1
68019148698. 2
68019148699. 3

68019148700. 4

Question Number : 75 Question Id : 68019112345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il H 22 e iRad & o8 Us Ui« sl [Sulle W [4aR @< | 3¢ Ug & U
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Options :

68019148697. 1



68019148698. 2
68019148699. 3

68019148700. 4



